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定義域は， 真数条件から
ß
x + 2 > 0

1 − x
を解いて

−2 < x < 1 · · · 1⃝ この範囲で
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log4 (1 − x)

log4 2
= 2 log4 (1 − x)

を用いて

y = log4 (x + 2) + 2 log4 (1 − x)

= log4

(x + 2) (1 − x)2
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右辺の底である 4は 1より大きいので，
真数が最大となるとき yも最大となる。 真数を
f(x) = (x + 2) (1 − x)2 = x3 − 3x + 2とおく。

f ′(x) = 3x2 − 3 = 3 (x + 1)(x − 1) であり
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